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Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: 
A. comprehended

B. soaked

C. accepted

D. needed
Question 2: 
A. merchant 
B. term
C. commercial
D. sergeant
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: 
A. decay
B. vanish
C. attack
D. depend

Question 4: 
A. habitat
B. attendance
C. candidate
D. wilderness
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5: We must push the piano to the comer of the hall to___________our party tonight.


A. make place for
B. take up room to
C. make room for
D. give place to

Question 6: His speech___________little or no relation to the topic given.


A. was
B. reflected
C. gave
D. bore

Question 7: The functional skills such as___________fundamentals of agriculture, health and hygiene and population education have also been incorporated in the primary school
.


A. curriculum
B. project
C. plan
D. schedule

Question 8: Nowadays, with the help of the computer, teachers have developed a___________approach to teaching.


A. multilateral
B. multilingual
C. multiple-choice
D. multimedia

Question 9: Let me please___________my memory before I get down to answering the questions.


A. resume
B. ease
C. awake
D. refresh

Question 10: He died___________lung cancer last month, leaving his wife in great shock.


A. by
B. for
C. in
D. of

Question 11: Nowadays, most students use___________calculators in their studies and examinations.


A. electrical
B. electronic
C. electricity
D. electric

Question 12: In no circumstances___________on campus.


A. should smoking be allowed
B. should smoking allow


C. smoking should be allowed
D. we should allow smoking

Question 13: I clearly remember___________you about this before.


A. telling
B. to tell
C. told
D. tell
Question 14: Buy me a newspaper on your way back, ___________?


A. can’t you
B. don’t you
C. will you
D. do you

Question 15: The doctor decided to give her a thorough examination___________he could identify the causes of her illness.

 A. after
B. so as
C. unless
D. so that
Question 16: The letter___________him of the theft hadn’t been signed.


A. to accuse
B. accused
C. accusing
D. that accuse
Question 17: I will have your car___________by the end of the day.


A. to repair
B. repair
C. repaired
D. repairing
Question 18: The number of cars on the roads___________increasing, so we need to build more roads.


A. is
B. were
C. was
D. are
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Even though the mountain was very steep and the climb was hazardous, several adventurous tourists managed to reach the top.


A. causing a lot of risks

B. bringing excitement


C. costing a lot of money

D. resulting in depression

Question 20: John wants to buy a new car, so he starts setting aside a small part of his monthly earnings.


A. spending on
B. using up
C. putting out
D. saving up

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: I’ll spend the weekends hitting the books as I have final exams next week.


A. reviewing the books

B. studying in a relaxing way


C. damaging the books

D. studying in a serious way

Question 22: My little daughter would spend an inordinate amount of time in the shop, deciding exactly which 4 comics she was going to buy.


A. excessive
B. limited
C. required
D. abundant
Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Megan, a high school teacher, is talking to her colleague about students’ volunteering.

-
Meghan: “Volunteer work should be included in school curriculum.”

-
Meghan’s colleague: “___________it may involve complicated regulations.”


A. I see what you mean but
B. I agree with you entirely because


C. I have no objection as

D. I guess so because

Question 24: Amy is talking to her friend after school.

-
Amy: “It’s kind of you to give me a lift to campus this morning.”

-
Jimmy: “___________. ”


A. It’s so far away
B. You’re welcome 
C. Certainly
D. Go ahead
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.


Why is it that many teenagers have the energy to play computer games until late at night but can’t find the energy to get out of bed (25) ___________for school? According to a new report, today’s generation of children are in danger of getting so little sleep that they are putting their mental and physical health at risk. This raises serious questions about whether lack of sleep is affecting children’s ability to concentrate at school. The (26) ___________between sleep deprivation and lapses in memory, impaired reaction time and poor concentration is well (27) ___________. Research has shown that losing as little as half an hour’s sleep a night can have profound effects on how children perform the next day. A good night’s sleep is also crucial for teenagers (28) ___________it is while they are asleep (29) ___________they release a hormone that is essential for their ‘growth spurt’ (the period during teenage years when the body grows at a rapid rate). It’s true that they can, to some extent, catch up on sleep at weekends, but that won’t help them when they are dropping off to sleep in class on a Friday afternoon. 
By Tim Falla and Paul A. Davies. Solutions Advanced. OUP

Question 25: 
A. behind time
B. in time
C. at times
D. about time

Question 26: 
A. connect
B. connecting
C. connection
D. connective

Question 27: 
A. established
B. acquired
C. arranged
D. organized

Question 28: 
A. although
B. because
C. however
D. therefore

Question 29: 
A. at which
B. that
C. where
D. which

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.


Bloodhounds are biologically adapted to trailing their prey. The process by which the nose recognizes an odor is not fully understood, but there are apparently specific receptor sites for specific odors. In one explanation, recognition occurs when a scent molecule fits into its corresponding receptor site, like a key into a lock, causing a mechanical or chemical change in the cell. Bloodhounds apparently have denser concentrations of receptor sites tuned to human scents.


When a bloodhound trails a human being, what does it actually smell? The human body, which consists of about 60 trillion living cells, sheds exposed skin at a rate of 50 million cells a day. So even a trail that has been dispersed by breezes may still seem rich to a bloodhound.The body also produces about 31 to 50 ounces of sweat a day. Neither this fluid nor the shed skin cells have much odor by themselves, but the bacteria working on both substances is another matter. One microbiologist estimates the resident bacteria population of a clean square centimeter of skin on the human shoulder at “multiples of a million.” As they go about their daily busi¬ness breaking down lipids, or fatty substances, on the skin, these bacteria release volatile substances that usually strike the bloodhound’s nose as an entire constellation of distinctive scents.

Question 30: What does the passage mainly discuss?


A.
Why people choose bloodhounds for household pets


B.
How a bloodhound’s sense of smell works


C. How humans compensate for an underdeveloped sense of smell


D. The way in which bacteria work on skin cells and body sweat.

Question 31: The author compares a scent molecule with a___________.


A. key
B. lock
C. cell
D. bloodhound

Question 32: In paragraph 2, the word “it” refers to___________.

A. bloodhound
B. human being
C. smell
D. body

Question 33: According to the passage, how many cells of skin does the human body rid itself of every day?


A. 60 trillion
B. 50 million
C. 1 million
D. Between 31 and 50
Question 34: In paragraph, the word “rich” is used to mean that a trail is___________.


A.
paved with precious materials


B.
a profitable business to get into


C. a very costly undertaking


D. filled with an abundance of clues
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.


Do you think you’re smarter than your parents, and grandparents? According to James Flynn, a professor at a New Zealand university, you might be. Over the course of the last century, IQ test scores of people in some countries have gotten increasingly better, on average, three points better for every decade that has passed. This trend of improving scores is known as “the Flynn effect” and scientists want to know what is behind it.


IQ tests and other similar tests are designed to measure general intelligence rather than knowledge. Flynn knew that intelligence is partly inherited from our parents and partly the result of our environment and experiences, but the improvement in test scores was happening too quickly to be explained by heredity. So what happened in the 20th century that led to higher test scores? Scientists have proposed several explanations for the Flynn effect. Some suggest that the improved test scores simply reflect an increased exposure to tests in general. Because we take so many tests, we learn test-taking techniques that help us perform better. Others have pointed to better nutrition, which results in babies being born larger, healthier, and with more brain development than in the past. Another possible explanation is a change in educational styles: children are encouraged to discover things for themselves rather than just memorizing information. This could prepare people to do the kind of problem-solving that intelligence tests require.


Flynn himself suggested that learning new technologies may have improved people’s problem-solving skills. This may be true for the first decade of his tests, when IQ scores in many countries increased. However, in recent years, IQ test scores in some countries have begun to decline. Data from Norway, the Netherlands, Australia, and Great Britain have shown that as these countries become more and more modem, IQ scores have begun to drop.


While scientists aren’t sure what’s causing this decline, they think technology is dramatically changing the way that we learn and get information. For example, people are now able to access all kinds of information very easily using online resources like Google or Wikipedia. The danger is when they start to rely too much on these sources of information, and not do any thinking for themselves. Lifestyle changes that come with modem technology may also have a negative effect on intelligence, such as video games and television making people less social. So while the world may have gotten smarter over the 20th century, improving technology and changing lifestyles may soon reverse that trend.

Question 35: What is the passage mainly about?


A.
Factors affecting changes in people’s IQ


B.
Relationship between IQ and lifestyles


C. Influences of technology on IQ


D. How to improve IQ

Question 36: What is the Flynn effect?


A.
a way invented by Flynn to measure intelligence


B.
an increase in IQ test score


C. a theory to explain why people are less smart


D. an effect of IQ tests on modem people

Question 37: The word “it” in paragraph 1 refers to___________.


A. the Flynn effect
B. IQ test
C. knowledge
D. test-taking process

Question 38: The word “exposure” in paragraph 2 is closest in meaning to___________.


A. experience
B. risk
C. effect
D. condition

Question 39: The Flynn effect is probably the result of___________.


A. heredity

B. taking fewer tests 

C. memorizing information
D. better nutrition

Question 40: The writer uses video games as an example to show that___________.

A.
technology can improve people’s intelligence


B.
we are becoming less social


C. people don’t think for themselves


D. countries are becoming more technologically advanced

Question 41: The word “dramatically” in the last paragraph is closest in meaning to___________.


A. significantly
B. usually
C. generally
D. fairly

Question 42: What is NOT mentioned as a contributing factor in the recent decline of IQ test scores?


A. search engines

B. television


C. changing lifestyles

D. changing educational styles
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: The student must have her assessment form fill in by the examiner during the oral exam.




     A
              B
        C                D

Question 44: Looking from afar, the village resembles a small green spot dotted with tiny fireballs.



                      A
                                      B
                       C                       D

Question 45: The 6-year-old boy resembles to his mother somewhat more than does his older brother.



                                 A                             B
                C
      D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: “We lost the last game because of the referee,” said the team captain.


A.
The team captain refused to tell the referee about their loss in the last game.


B.
The team captain admitted to the referee that they had lost the last game.


C. The team captain blamed the referee for their loss in the last game.


D. The team captain said that without the referee, they might have lost the last game.

Question 47: After the members of the committee had had lunch, they discussed the problem.


A.
Having been served lunch, a discussion of the problem was made by the members of the committee.


B.
Having been served lunch, the problem was discussed by the members of the committee.


C. Having been served lunch, the committee members discussed the problem. 


D. Having been served lunch, it was discussed by the committee members of the problem. 
Question 48: A drug may affect several functions, even though it’s targeted at only one.


A.
A drug is taken for a specific purpose, but it may have a range of other effects.


B.
However effective a drug may be, its functions have to be several.


C. Despite various other uses, a drug usually has a function for a special effect.


D. The functions expected of a drug are various even if it is used for a specific disease.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: We spend about one-third of our lives sleeping. We know relatively little about sleep.


A.
We know relatively little about sleep; as a result, we spend about one-third of our lives sleeping.


B.
We shall know more about sleep if we spend more than one-third of our lives sleeping.


C. Despite spending about one-third of our lives sleeping, we know relatively little about sleep.


D. We spend about one-third of our lives sleeping so that we know relatively little about sleep.

Question 50: He felt very tired. However, he was determined to continue to climb up the mountain.


A.
He felt so tired that he was determined to continue to climb up the mountain.


B.
Feeling very tired, he was determined to continue to climb up the mountain.


C. As the result of his tiredness, he was determined to continue to climb up the mountain.


D. Tired as he might feel, he was determined to continue to climb up the mountain
Đáp án

	1-B
	2-D
	3-B
	4-B
	5-C
	6-D
	7-A
	8-D
	9-D
	10-D

	11-B
	12-A
	13-A
	14-C
	15-D
	16-C
	17-C
	18-A
	19-A
	20-D

	21-B
	22-B
	23-A
	24-B
	25-B
	26-C
	27-A
	28-B
	29-B
	30-B

	31-A
	32-A
	33-B
	34-D
	35-A
	36-B
	37-A
	38-A
	39-D
	40-B

	41-A
	42-D
	43-B
	44-A
	45-B
	46-C
	47-C
	48-A
	49-C
	50-D


LỜI GIẢI CHI TIẾT

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1: Đáp án B
Động từ ở phương án C kết thúc là phụ âm /k/, nên -ed được phát âm là /t/, động từ ở các phương án còn lại kết thúc là các âm /d/ và /t/ nên -ed được phát âm là /ɪd/.
A. comprehended/ˌkɒmprɪˈhend/
B. soaked /səʊkt/
C. accepted/əkˈsept/
D. needed /niːdɪd/
Question 2: Đáp án D
A. merchant /ˈmɜːtʃənt/
B. term /tɜːm/


C. commercial /kəˈmɜːʃl/
D. sergeant /ˈsɑːdʒənt/
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions.

Question 3: Đáp án B
A. decay /dɪˈkeɪ/

B. vanish /ˈvænɪʃ/

C. attack /əˈtæk/

D. depend /dɪˈpend/
Question 4: Đáp án B
A. habitat /ˈhæbɪtæt/
B. attendance /əˈtendəns/


C. candidate /ˈkændɪdət/
D. wilderness /ˈwɪldənəs/
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5: Đáp án C
Giải thích: Cụm từ: make room for (dành chỗ cho)

Dịch nghĩa: Chúng ta phải đẩy cây đàn piano vào góc của hội trường đế dành chỗ cho bữa tiệc của chúng ta tối nay.

Question 6: Đáp án D
Giải thích: Cụm từ: bear little or no relation to sth (không liên quan hoặc liên quan rất ít tới)

Dịch nghĩa: Bài phát biểu của ông ấy không liên quan hoặc liên quan rất ít tới chủ đề được đưa ra.
Question 7: Đáp án A
Giải thích:

A. curriculum (n.): chương trình giáo dục 
B. project (n.): dự án
C. plan (n.): kế hoạch



D. schedule (n.): lịch trình

Dịch nghĩa: Các kỹ năng chức năng như nguyên tắc cơ bản của nông nghiệp, y tế, vệ sinh và giáo dục dân số cũng đã được tích hợp trong chương trình giáo dục tiểu học.

Question 8: Đáp án D
Giải thích:

A. multilateral (adj): đa phương

B. multilingual (adj.): đa ngôn ngữ

C. multiple-choice (adj.): đa chọn lựa 
D. multimedia (adj.): đa phương tiện

Dịch nghĩa: Ngày nay, với sự trợ giúp của máy tính, giáo viên đã phát triển phương pháp giảng dạy đa phương tiện.

Question 9: Đáp án D
Giải thích: Cụm từ: refresh one’s memory (nhớ lại)

Dịch nghĩa: Hãy để tôi nhớ lại trước khi bắt tay vào trả lời những câu hỏi đó.

Question 10: Đáp án D
Giải thích: Cụm từ: die of (chết vì lí do gì)
Dịch nghĩa: Anh ấy đã chết vì ung thư phổi vào tháng trước, để lại cho người vợ một cú sốc lớn.

Question 11: Đáp án B
Giải thích: Trước vị trí cần điền là danh từ calculators (máy tính) nên ta cần một tính từ. Do đó, phương

án A, B và D phù hợp. Dịch nghĩa 3 phương án:

A. electrical (adj.): thuộc về điện
B. electronic (adj.): thuộc điện tử

D. electric (adj.): liên quan tới điện
Xét về nghĩa, phương án B là phù hợp nhất.

Dịch nghĩa: Ngày nay, hầu hết học sinh sử dụng máy tính điện tử trong học tập và thi cử.

Question 12: Đáp án A
Giải thích: cấu trúc: In no circumstances + trợ động từ + S + V (Trong bất cứ trường hợp nào cũng không...)

Dịch nghĩa: Trong bất cứ trường hợp nào cũng không nên cho phép hút thuốc trong khuôn viên trường.

Question 13: Đáp án A
Giải thích: cấu trúc: remember + V-ing (nhớ đã làm gì trước đó ...)

remember + to V (nhớ phải làm gì...)

Dịch nghĩa: Tôi nhớ rõ ràng là đã kể cho bạn chuyện này trước đây rồi.

Question 14: Đáp án C
Giải thích: Mệnh đề chính là câu đề nghị nên ta dùng cấu trúc will + S cho phần câu hỏi đuôi.

Dịch nghĩa: Mua giúp tôi một tờ báo trên đường bạn về được chứ?
Question 15: Đáp án D
Giải thích: Ta cần một từ nối để liên kết hai mệnh đề đã cho với nhau nên phương án A, C và D phù

hợp. Xét về nghĩa, mệnh đề thứ hai là mục đích của mệnh đề thứ nhất nên ta dùng từ nối so that (để mà). Dịch nghĩa: Bác sĩ đã quyết định cho cô ấy kiểm tra kỹ lưỡng để có thể xác định nguyên nhân gây ra bệnh của cô.

Question 16: Đáp án C
Giải thích: Câu đã cho đã có mệnh đề chính the letter hadn’t been signed (lá thư chưa được ký) nên vị

trí cần điền nằm trong một mệnh đề quan hệ. The letter (lá thư) là chủ thể của hành động accuse (buộc tội) nên mệnh đề quan hệ này phải ở hình thức chủ động. Mệnh đề which/ that accused ... có thể được rút gọn thành accusing ...

Dịch nghĩa: Lá thư buộc tội anh ấy về hành vi trộm cắp chưa được ký.

Question 17: Đáp án C
Giải thích: cấu trúc: have something + p.p. + by somebody (có thứ gì đó được làm bởi ai)
Dịch nghĩa: Tôi sẽ cho người sửa chiếc xe đạp của bạn trước cuối ngày.

Question 18: Đáp án A
Giải thích: cấu trúc: the number of + danh từ số nhiều + động từ số ít (số lượng...)

Dựa vào vế sau we need... ta thấy câu diễn tả sự thực ở hiện tại nên động từ cần điền phải ở thì hiện tại đơn. 
Dịch nghĩa: Lượng ô tô tham gia giao thông đang tăng lên, vì thế chúng ta cần xây dựng thêm đường.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions.

Question 19: Đáp án A
Giải thích: Even though the mountain was very steep and the climb was hazardous, several adventurous

tourists managed to reach the top. (Mặc dù ngọn núi rất dọc và việc leo núi rất nguy hiểm, một số khách du lịch mạo hiểm đã leo lên được đỉnh núi.)

A. causing a lot of risks: gây ra nhiều rủi ro
B. bringing excitement: đem lại hứng khởi

C. costing a lot of money: tốn rất nhiều tiền
D. resulting in depression: gây ra phiền muộn

Như vậy, hazardous (nguy hiểm) có nghĩa tương đồng với phương án A.

Question 20: Đáp án D
Giải thích: John wants to buy a new car, so he starts setting aside a small part of his monthly earnings.

(John muốn mua một chiếc xe hơi mới, vì vậy anh ấy bắt đầu dành ra một phần nhỏ trong thu nhập hàng tháng của mình.)

A. spending on: sử dụng

B. using up:dùng hết

C. putting out: để ra ngoài

D. saving up: tiết kiệm

Như vậy, setting aside (để dành) có nghĩa tương đồng với phương án D.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.

Question 21: Đáp án B
Giải thích: I’ll spend the weekends hitting the books as I have final exams next week. (Tôi sẽ dành những ngày cuối tuần để học hành chăm chỉ vì tôi có bài kiểm tra cuối kì vào tuần tới.)

A. reviewing the books : xem lại những cuốn sách

B. studying in a relaxing way : học hành thoải mái 
C. damaging the books : phá hoại những cuốn sách

D. studying in a serious way : học hành nghiêm túc 
Như vậy, hitting the books có nghĩa tương phản với phương án B.

Question 22: Đáp án B
Giải thích: My little daughter would spend an inordinate amount of time in the shop, deciding exactly

which 4 comics she was going to buy. (Có con gái nhỏ của tôi dành thêm thời gian ở cửa hàng, quyết định chính xác 4 cuốn truyện tranh mà nó sẽ mua.)

A. excessive (adj.): quá mức

B. limited (adj.): hạn chế, ít.
C. required (adj.): cần thiết

D. abundant (adj.): nhiều, dồi dào

Như vậy, inordinate (quá mức) có nghĩa tương phản với phương án B.

Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of the following exchanges.

Question 23: Đáp án A
Giải thích: Câu thoại đầu tiên là câu đưa ra ý kiến. 
Cả 4 phương án đã cho đều có thể dùng để hồi đáp câu đưa ra ý kiến.

A. Tôi hiểu ý bạn nhưng

B. Tôi hoàn toàn đồng ý với bạn bởi vì

C. Tôi không phản đối chút nào vì

D. Tôi đoán vậy bởi vì

Dịch nghĩa: Megan, một giáo viên trung học, đang nói chuyện với đồng nghiệp của mình về hoạt động tình nguyện của học sinh.

- Megan: “Việc tình nguyện nên được đưa vào chương trình giảng dạy ở trường. ”

- Đồng nghiệp của Megan: “Tôi hiểu ý của bạn nhưng nó có thể liên quan đến các quy định phức tạp. ”

Question 24: Đáp án B
Giải thích: Câu thoại đầu tiên It’s kind of you to ... là cấu trúc của một lời cảm ơn.

A. Nó quá xa

B. Không có gì (dùng để hồi đáp lời cảm ơn)

C. Chắc chắn rồi

D. Làm đi (dùng để hồi đáp lời xin phép)

Dịch nghĩa: Amy đang nói chuyện với bạn của cô ấy sau giờ học.

- Amy: “Cậu thật tốt bụng khi cho tớ đi nhờ tới trường sáng nay. ”

- Jimmy: “Không có gì đâu. ”

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 25 to 29.

Question 25: Đáp án B
Giải thích:

A. behind time: muộn

B. in time: kịp giờ

C. at times: thi thoảng

D. about time: đã đến lúc

Question 26: Đáp án C
Giải thích: Trước vị trí cần điền là mạo từ the nên ta cần một danh từ.

Question 27: Đáp án A
Giải thích: Cụm từ: well established (được thừa nhận, được công nhận)

Question 28: Đáp án B
Giải thích: Ta cần một liên từ nối hai mệnh đề trong câu với nhau. Mệnh đề it is while they are asleep [...] they release a hormone là nguyên nhân của mệnh đề a good night’s sleep is also crucial for teen-agers nên ta dùng liên từ because (bởi vì).

Question 29: Đáp án B
Giải thích: Ta có cấu trúc It is ... that dùng để nhấn mạnh
Dịch nghĩa toàn bài:


Tại sao nhiều thanh thiếu niên có năng lượng để chơi game trên máy tính đến tận đêm khuya nhưng lại không thể tìm ra năng lượng để ra khỏi giường cho kịp giờ đến trường? Theo một báo cáo mới đây, thế hệ trẻ ngày nay có nguy cơ ngủ quá ít đến nỗi chúng đang khiến sức khỏe tinh thần và thể chất gặp nguy hiểm.


Điều này đặt ra những câu hỏi nghiêm trọng về việc liệu thiếu ngủ có ảnh hưởng đến khả năng tập trung của trẻ ở trường hay không. Mối liên hệ giữa thiếu ngủ và mất trí nhớ tạm thời, thời gian phản ứng bị suy giảm và khả năng tập trung kém đều được công nhận. Nghiên cứu đã chỉ ra rằng chỉ cần mất nửa giờ ngủ một đêm có thể có tác động sâu sắc tới hoạt động của trẻ vào ngày hôm sau. Một giấc ngủ ngon lành cũng rất quan trọng đối với thanh thiếu niên bởi vì trong khi chúng ngủ, chúng tiết ra một loại hoocmôn cần thiết cho thời kỳ “lớn nhanh như thổi” của mình (giai đoạn trong những năm thiếu niên khi cơ thể phát triển với tốc độ nhanh). Đúng là chúng có thể, ở một mức độ nào đó, ngủ bù đủ vào cuối tuần, nhưng điều đó không giúp ích gì cho chúng khi chúng ngủ gục trong lóp vào một chiều thứ Sáu.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 30 to 34.

Dịch nghĩa toàn bài:
	
Chó săn có sự thích nghi về mặt sinh học1 để theo dõi con mồi. Quá trình mà mũi chúng nhận ra mùi không được hiểu đầy đủ, nhưng rõ ràng có những vị trí thụ thể nhất định với những mùi2 cụ thể. Trong một giải thích, sự nhận biết3 xảy ra khi một phân tử mùi hương phù hợp với vị trí thụ thể tương ứng của nó, giống như một chìa khóa vào ổ khóa, gây ra sự thay đổi cơ học hoặc hóa học trong tế bào. Những chú chó săn rõ ràng có sự tập trung nhiều hơn các vị trí thụ thể điều chỉnh theo mùi hương của con người.


Khi một con chó săn bám đuôi một con người, nó thực sự ngửi thấy mùi gì? Cơ thể con người, bao gồm khoảng 60 nghìn tỷ tế bào sống, loại bỏ phần da tiếp xúc với môi trường với tốc độ 50 triệu tế bào mỗi ngày. Vì thế, ngay cả một dấu vết đã bị phân tán4 bởi những cơn gió nhẹ vẫn có vẻ là rất nhiều đối với một con chó săn. Cơ thể cũng tạo ra khoảng 31 đến 50oz mồ hôi mỗi ngày. Cả mồ hôi và tế bào chết này đều không có nhiều mùi, nhưng vi khuẩn hoạt động trên cả hai chất này lại là một vấn đề khác. Một nhà vi sinh học ước tính quần thể vi khuẩn5 thường trú trên một centimet vuông da sạch trên vai người ở mức “bội số của một triệu”. Khi họ vệ sinh hàng ngày và phá vỡ lipit hay các chất béo, trên da, những vi khuẩn này giải phóng các chất dễ bay hơi và thường đánh thức mũi của chó săn như một thế giới mùi hương đặc biệt.
	1. biologically (adv.)

2. odor (n.)

3. recognition (n.)

4. disperse (v.)

5. bacteria (n.)


Question 30: Đáp án B
Dịch nghĩa câu hỏi: Đoạn văn chủ yếu thảo luận về vấn đề gì?

A. Tại sao mọi người chọn chó săn làm vật nuôi trong nhà

B. Khứu giác của chó săn hoạt động như thế nào

C. Cách con người bù đắp cho khứu giác kém phát triển

D. Cách thức vi khuẩn hoạt động trên tế bào da và mồ hôi cơ thể.

Giải thích: Toàn bộ bài đọc tập trung làm rõ cách thức hoạt động của khứu giác loài chó săn nên phương án B phù hợp nhất.
Question 31: Đáp án A
Dịch nghĩa câu hỏi: Tác giả so sánh phân tử mùi với____________?

A. chìa khóa

B. ổ khóa

C. tế bào

D. chó săn

Giải thích: Thông tin nằm ở câu 3 đoạn 1: Ira one explanation, recognition occurs when a scent molecule fits into its corresponding receptor site, like a key into a lock [...]
Question 32: Đáp án A
Dịch nghĩa câu hỏi: Trong đoạn 2, từ “it” ám chỉ___________?

A. chó săn

B. con người

C. mùi


D. cơ thể
Giải thích: Trong câu When a bloodhound trails a human being, what does it actually smell? từ it thay thế cho cụm từ a bloodhound nên phương án A phù hợp nhất.

Question 33: Đáp án B
Dịch nghĩa câu hỏi: Theo đoạn văn, bao nhiêu tế bào da cơ thể loại bỏ mỗi ngày?

A. 60 nghìn tỷ

B. 50 triệu
C. 1 triệu
D. Từ 31 đến 50

Giải thích: Thông tin nằm ở câu 2 đoạn 2: The human body, which consists of about 60 triỉỉỉon living cells, sheds exposed skin at a rate of 50 million cells a day. Từ shed đồng nghĩa với từ rid trong câu hỏi.

Question 34: Đáp án D
Dịch nghĩa câu hỏi: Trong đoạn văn, từ “rich” được dùng để miêu tả một con đường____________?

A. được lát bằng vật liệu có giá trị
B. một mối kinh doanh có lợi nhuận để tham gia

C. một công việc rất tốn kém

D. chứa rất nhiều manh mối

Giải thích: Thông tin nằm ở câu 2 và 3 đoạn 2: The human body, which consists of about 60 trillion living cells, sheds exposed skin at a rate of 50 million cells a day. So even a trail that has been dis-persed by breezes may still seem rich to a bloodhound.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 35 to 42.
	
Bạn có nghĩ rằng bạn thông minh hơn cha mẹ và ông bà của bạn không? Theo James Flynn, giáo sư tại một trường đại học ở New Zealand, bạn có thể như vậy. Trong suốt thế kỷ qua, điểm kiểm tra IQ của người dân ở một số quốc gia đã ngày càng cao hơn, tính trung bình cao hơn ba điểm cho mỗi thập kỷ trôi qua. Xu hướng1 cải thiện điểm số này được gọi là “hiệu ứng Flynn”, và các nhà khoa học muốn biết điều gì ẩn sau nó.


Các bài kiểm tra IQ và các bài kiểm tra tương tự khác được thiết kế để đo lường2 trí thông minh hơn là kiến thức. Flynn biết rằng trí thông minh một phần được thừa hưởng từ3 cha mẹ và một phần là kết quả của môi trường và kinh nghiệm, nhưng sự cải thiện điểm thi đã xảy ra quá nhanh để có thể giải thích được bởi sự di truyền4. Vậy điều gì đã xảy ra trong thế kỷ 20 dẫn đến điểm kiểm tra cao hơn? Các nhà khoa học đã đề xuất một số giải thích cho hiệu ứng Flynn. Một số cho rằng điểm kiểm tra được cải thiện chỉ đơn giản phản ánh5 sự tiếp xúc với6 các bài kiểm tra nói chung tăng lên. Bởi vì chúng ta làm rất nhiều bài kiểm tra, chúng ta học các kỹ thuật làm bài kiểm tra7 giúp cho chúng ta làm bài tốt hơn. Những người khác lại chỉ ra rằng dinh dưỡng8 tốt hơn dẫn đến việc em bé được sinh ra lớn hơn, khỏe mạnh hơn và phát triển trí não nhiều hơn so với trước đây. Một giải thích khác đó là có thể do sự thay đổi trong cách giáo dục: trẻ em được khuyến khích tự khám phá mọi thứ thay vì chỉ ghi nhớ thông tin. Điều này có thể trang bị kiến thức cho ta khi làm loại bài giải quyết vấn đề mà các bài kiểm tra trí thông minh yêu cầu.


Bản thân Flynn cho rằng việc học các công nghệ mới có thể giúp mọi người cải thiện các kỹ năng giải quyết vấn đề9. Điều này có thể đúng trong thập kỷ đầu tiên với các bài kiểm tra trong thời của ông, khi điểm IQ ở nhiều quốc gia tăng lên. Tuy nhiên, trong những năm gần đây, điểm kiểm tra IQ ở một số quốc gia đã bắt đầu giảm. Dữ liệu từ Na Uy, Hà Lan, úc và Vương quốc Anh đã chỉ ra rằng khi các quốc gia này ngày càng trở nên hiện đại, điểm số IQ đã bắt đầu giảm.


Mặc dù các nhà khoa học không biết chắc chắn điều gì gây ra sự tụt giảm này, nhưng họ nghĩ rằng công nghệ đang thay đổi đáng kể cách chúng ta học và lấy thông tin. Ví dụ, mọi người hiện nay có thể truy cập tất cả các loại thông tin rất dễ dàng bằng cách sử dụng các tài nguyên trực tuyến như Google hoặc Wikipedia. Điều nguy hiểm là họ bắt đầu phụ thuộc quá nhiều vào các nguồn thông tin này và không tự mình suy nghĩ. Thay đổi lối sống đi kèm với công nghệ hiện đại cũng có thể có tác động tiêu cực đến trí thông minh, chẳng hạn như trò chơi điện tử và truyền hình khiến mọi người trở nên kém hòa đồng. Vì vậy, mặc dù thế giới có thể đã thông minh hơn trong thế kỷ 20 nhưng cải tiến công nghệ và lối sống thay đổi có thể sớm đảo ngược10 xu hướng đó.
	1. trend (n.)

2. measure (v.)
3. inherit from ... (phr.)
4. heredity (n.)

5. reflect (v.)

6. exposure to ... (phr.)

7. test-taking techniques

8. nutrition (n.)

9. problem solving skills

10. reverse (v.)


Question 35: Đáp án A
Dịch nghĩa câu hỏi: Ý chính của đoạn văn là gì?

A. Các yếu tố ảnh hưởng đến sự thay đổi của IQ của con người

B. Mối quan hệ giữa IQ và lối sống 
C. Ảnh hưởng của công nghệ đến IQ 
D. Cách cải thiện IQ

Giải thích: Toàn bộ bài đọc tập trung làm rõ các yếu tố có thế ảnh hưởng tới IQ của con người nên phương án A phù hợp nhất.

Question 36: Đáp án B
Dịch nghĩa câu hỏi: Hiệu ứng Flynn là gì?

A. một phương pháp được phát minh bởi Flynn để đo lường trí thông minh

B. điểm kiểm tra IQ tăng lên

C. một lý thuyết để giải thích tại sao mọi người kém thông minh hơn 
D. ảnh hưởng của các bài kiểm tra IQ đối với con người hiện đại 
Giải thích: Thông tin nằm ở câu cuối đoạn 1: This trend of improving scores is known as “the Flynn effect” and scientists want to know what is behind it.
Question 37: Đáp án A
Dịch nghĩa câu hỏi: Trong đoạn 2, từ “ừ” ám chỉ____________.

A. hiệu ứng Flynn
B. bài kiểm tra IQ

C. kiến thức

D. quá trình làm bài kiểm tra

Giải thích: Trong câu This trend of improving scores is known as “the Flynn effect” and scientists want to know what is behind it từ it thay thế cho this trend of improving scores cũng chính là “the Flynn effect” nên phương án A phù hợp nhất.

Question 38: Đáp án A
Dịch nghĩa câu hỏi: Từ “exposure” trong đoạn 2 có nghĩa gần nhất với từ___________.

A. kinh nghiệm 
B. rủ/ ro
C. hiệu ứng
D. điều kiện

Như vậy, exposure có nghĩa tương đồng với phương án A.

Question 39: Đáp án D
Dịch nghĩa câu hỏi: Hiệu ứng Flynn có thể là kết quả của____________.
A. di truyền

B. làm ít bài kiểm tra hơn
C. ghi nhớ thông tin
D. dinh dưỡng tốt hơn
Giải thích: Thông tin nằm ở câu 4 và 7 đoạn thứ hai: Scientists have proposed several explanations for the Flynn effect. [...] others have pointed to better nutrition, which results in babies being born larger, healthier, and with more brain development than in the past.

Question 40: Đáp án B
Dịch nghĩa câu hỏi: Người viết sử dụng các trò chơi điện tử như một ví dụ chỉ ra rằng___________.
A. công nghệ có thể cải thiện trí thông minh của con người

B. chúng ta đang trở nên ít hòa đồng hơn
C. mọi người không nghĩ cho bản thân mình

D. các nước đang trở nên tiến bộ hơn về công nghệ

Giải thích: Thông tin nằm ở câu 4 đoạn 4: Lifestyle changes that come with modern technology may also have a negative effect on intelligence, such as video games and television making people less social.
Question 41: Đáp án A
Dịch nghĩa câu hỏi: Từ “dramatically” trong đoạn 4 có nghĩa gần nhất với từ____________?

A. đáng kể

B. thường xuyên
C. nhìn chung
D. công bằng

Như vậy, dramatically có nghĩa tương đồng với phương án A.

Question 42: Đáp án D
Dịch nghĩa câu hỏi: Điều gì KHÔNG được đề cập như một yếu tố làm tụt giảm điểm kiểm tra IQ gần đây?

A. công cụ tìm kiếm

B. truyền hình

C. thay đối lối sống

D. thay đổi phong cách giáo dục

Giải thích:

Thông tin cho phương án A nằm ở câu 2 đoạn 4: For example, people are now able to access all kinds of information very easily using online resources like Google or Wikipedia.

Thông tin cho phương án B nằm ở câu 4 đoạn 4: Lifestyle changes that come with modern technology may also have a negative effect on Intelligence, such as video games and television making people less social.

Thông tin cho phương án C nằm ở câu cuối cùng đoạn cuối: So while the world may have gotten smarter over the 20th century, improving technology and changing lifestyles may soon reverse that trend.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.

Question 43: Đáp án B
fill in → filled in

Giải thích: cấu trúc: have something + p.p. + by somebody (có thứ gì đó được làm bởi ai)

Dịch nghĩa: Học sinh phải có mẫu đánh giả của mình được điền bởi người chấm thi trong khi kiểm tra miệng.

Question 44: Đáp án A
Looking → Looked

Giải thích: Chủ ngữ của mệnh đề đầu tiên (the village) được rút gọn vì câu có hai mệnh đề cùng chủ ngữ. The village là đối tượng chịu tác động của hành động look nên câu phải ở dạng bị động.

Dịch nghĩa: Nhìn từ xa, ngôi làng giống như một chấm xanh nhỏ điểm xuyết những quả cầu lửa tí hon.

Question 45: Đáp án B

To → ∅
Giải thích: cấu trúc: resemble somebody (trông giống ai)

Dịch nghĩa: Cậu bé 6 tuổi giống mẹ ở một mức độ nào đó nhiều hơn anh trai mình.
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 46: Đáp án C
Giải thích: “We lost the last game because of the referee,” said the team captain. (“Chúng tôi thua trận đấu trước bởi vì trọng tài, ” đội trưởng nói.)
Đây là lời nói trực tiếp diễn đạt lý do thua trận đấu trước, mang tính chất đổ lỗi, nên ở câu gián tiếp sử dụng động từ tường thuật blamed (đổ lỗi).

Ta có cấu trúc: blame sb for sth/ doing sth: đổ lỗi cho ai đó về việc gì.

Phương án C có nghĩa tương đương với câu đã cho.

Question 47: Đáp án C
Giải thích: After the members of the committee had had lunch, they discussed the problem. (Sau khi các thành viên của ủy ban ăn trưa, họ thảo luận vấn đề.)

Hai mệnh đề trong câu có chung chủ ngữ nên ta có thể rút gọn bằng cấu trúc having + p.p., S + V + O. Chủ ngữ được giữ lại trong câu rút gọn phải là the members of the committee nên phương án C phù hợp nhất.

Phương án C có nghĩa tương đương với câu đã cho.

Question 48: Đáp án A
Giải thích: A drug may affect several functions, even though it’s targeted at only one. (Một loại thuốc có thể ảnh hưởng đến một số chức năng, mặc dù mục đích của loại thuốc đó chỉ để phục hồi một chức năng duy nhất.)

A. Một loại thuốc được sử dụng cho một mục đích cụ thể, nhưng nó có thể có một loạt các tác dụng khác.

B. Dù một loại thuốc có hiệu quả như thế nào thì chức năng của nó cũng phải khá nhiều.

C. Mặc dù có nhiều cách sử dụng khác, một loại thuốc thường có một chức năng cho một tác dụng đặc biệt.

D. Các chức năng dự kiến của một loại thuốc là đa dạng ngay cả khi nó được sử dụng cho một bệnh cụ thể. 
Phương án A có nghĩa tương đương với câu đã cho.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 49: Đáp án C
Giải thích: We spend about one-third of our lives sleeping. We know relatively little about sleep. (Chúng ta dành khoảng một phần ba cuộc đời để ngủ. Chúng ta biết tương đối ít về giấc ngủ.)

Hai câu đã cho có mối quan hệ tương phản nên ta có thể nối hai câu này bằng liên từ despite (mặc dù). Dịch nghĩa: Mặc dù dành khoảng một phần ba cuộc đời để ngủ, chúng ta biết tương đối ít về giấc ngủ.
Question 50: Đáp án D
Giải thích: He felt very tired. However, he was determined to continue to climb up the mountain.

(Anh ấy cảm thấy rất mệt mỏi. Tuy nhiên, anh ấy quyết tâm tiếp tục leo lên đỉnh núi.)

Hai câu đã cho được liên kết với nhau qua trạng từ liên kết However thể hiện sự tương phản. Ta sử dụng cấu trúc: Adj + as/ though + S + V, clause (Dù ... như thế nào, ...)

Dịch nghĩa: Dù cảm thấy mệt mỏi như thế nào thì anh ấy vẫn quyết tâm tiếp tục leo lên núi
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